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Exam Id

Name:

Exam Date: 12-Mar-2023
Module Name: TEACHERS
Duration 120

Batch: 09:00-11:00
1) General Studies

Question No. 1 1.00
Bookmark
Who among the following constructed the Brahmeswara temple of Bhubaneswar?
FIRYeR FIG @Y RIERYAER TLECIYR FIRR (Brahmeswara temple) @¢lE @Q2l6m?
(A) O Yayati-l
LAIG-1
(B) O Gouri Mahadevi (Choosen Option)
6611 €1916991 (Choosen Option)
(C) O Kolavati Devi (Correct Alternative)
amlee1 6991 (Correct Alternative)
(D) O Karnadeva
a¢eea

Question No. 2 1.00
Bookmark
Which one of the following gases is responsible for ozone layer depletion in Stratosphere?

SARGIC 68Q GYIS, RICTIHAAR (Stratosphere) 69! BRE R (ozone layer) S8 TIR Q1N 2662
(A) O Dimethyl Ether

gimf2lam K2R (Dimethyl Ether)
B)O Chlorofluorocartzons (Correct Alternative) (Choosen Option)

6GI6NGLICNRISE (Chlorofluorocarbons) (Correct Alternative) (Choosen Option)
(C) O Terpenes

o909, (Terpenes)
(D) O Carbon Dioxide

Qldg GIR2lFIR% (Carbon Dioxide)

Question No. 3 1.00
Bookmark
| . is the natural aging of aﬂlake by nutrientﬁenrichment of its water.
605N L9 WMEQ 6UIVR @ (nutrient) G 629G I JIfeq @dIea 9219 @'/ 629 (natural aging of a
lake) JGRNQ QEIC |
(A) O Saponification
Q6LTPERLS (Saponification)
(B) O Podzolisation
6UIZERINIRNELRYs (Podzolisation)
(C) O Eutrophication (Correct Alternative)
P69ITP6R4S (Eutrophication) (Correct Alternative)
(D) O Esterification
QEAFERAR (Esterification)

Question No. 4 1.00
Bookmark
Bhangar Soil belongs to which of the following soil types?
QUEPR €J@&! (Bhangar Soil) TEmSIe CRIQ 699 JRIQ eQl 2657
(A) O Alluvial Soils (Correct Alternative)
a¢g €IS (Alluvial Soils) (Correct Alternative)
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(B) © Black Soils

Q% ¢JaRI (Black Soils)
(C) O Laterite Soils (Choosen Option)

TN NG ﬂ@lfq?l (Laterite Soils) (Choosen Option)
(D) O Red Soils

6MITS €)8QI (Red Soils)

Question No. 5 1.00

Bookmark
Where is the headquarters of the World Trade Organisation located?

Qg Q18@Y 2°gl (World Trade Organisation) 9 €]&l4IRa: 69Q0I6Q 29Fe?
(A) © New Delhi, India
22 TR, QI9E
(B) © Manila, Philippines
IR, PRARXK, (Manila, Philippines)
(C) O Beijing, China
69G%P, 917 (Beijing, China)
(D) © Geneva, Switzerland (Correct Alternative) (Choosen Option)
60GQI, §eamI€ (Geneva, Switzerland) (Correct Alternative) (Choosen Option)

Question No. 6 1.00

Bookmark
Which Article of the Indian Constitution lays down that the state shall endeavour to secure a Uniform Civil
Code for the citizens throughout the territory of India?

ARG RN 68 ISR FHINRE 6 AUNBR 1G] QElgen 2l FIEIRaE R @G‘@d Jem 6919
(Uniform Civil Code) o8¢ QE9Ig QIR Q<Ye a019?
(A) O Article 38
gl 38
(B) O Article 45
QU 45
(C) O Article 39
diql 39
(D) O Article 44 (Correct Alternative)
dIgl 44 (Correct Alternative)

Question No. 7 1.00

Bookmark
Dr. B.R. Ambedkar described Directive Principles of State Policy as a /an:

2. @, 2. 2I6FALRR (Dr. B.R. Ambedkar) QU&Y §16 F64sia %I (Directive Principles of State Policy) §
69115 @6S S4lal aRlem |
(A) O Novel feature of Indian constitution (Correct Alternative)

RAAS1L TSR gee 636194 (Novel feature of Indian constitution) (Correct Alternative)
(B) © Preamble of Indian constitution (Choosen Option)

QUG ARIGR LISR! (Preamble of Indian constitution) (Choosen Option)
(C) O Administrative feature of Indian constitution

QUALTL ARG TEILTR 65GRY (Administrative feature of Indian constitution)
(D) © Dead letter of Indian constitution

QUG LRIIFDR 2A6MIL] 2V (Dead letter of Indian constitution)

Question No. 8 1.00
Bookmark
The Lead Bank Scheme was introduced by the Reserve Bank of India in the year:
od 62 AAG1G AEE UIw IR MG SUIF &€ (Lead Bank Scheme) 20 @QUSIRI |
(A) O 1975 (Choosen Option)
1975 (Choosen Option)

(B) O 1987
1987
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(C) O 1969 (Correct Alternative)
1969 (Correct Alternative)
(D) O 1953
1953

Question No. 9 1.00
Bookmark
How many Subjects were mentioned in the State list of the Original Indian Constitution?
FIR QUG IERIS (Original Indian Constitution) @ QURY SIMG| (State list) 65 6R6LIT TV QERE MI?
(A)O 70
70
B)YO 75
75
(C) O 66 (Correct Alternative)
66 (Correct Alternative)

DO 72
72

Question No. 10 1.00

Bookmark
The "rim of fire" is located in which of the following Oceans?

aamge 690 FIZINTIAER "] AP PIAIR (rim of fire)" EFES?
(A) O Arctic Ocean
QA AL
(B) O Atlantic Ocean
2IeRIde agidga
(C) O Indian Ocean
LG F1LIKIFRN
(D) O Pacific Ocean (Correct Alternative)
delle f1L1dIsIo (Correct Alternative)

Question No. 11 1.00

Bookmark
Which of the following rivers is a tributary of the river Yamuna?

FINGe 991YPT 1R 6996 JFR! 10 QUKL 26S?
(A) O Godavari
609 (Godavari)
(B) O Bharatapuzha
Wed@l (Bharatapuzha)
(C) © Betwa (Correct Alternative)
69%'¢l (Betwa) (Correct Alternative)
(D) O Luni
mél (Luni)

Question No. 12 1.00

Bookmark

The seafloor spreading hypothesis was first proposed by:
d9en S d9aga (seafloor spreading hypothesis) § &9 g2l651 QULILT S0J6R?
(A) O W. Jason Morgan

Lo GlLe 650 (W. Jason Morgan)
(B) © Dan McKenzie

@le CUIN6RE (Dan McKenzie)
(C) O Robert L. Parker

ASE IR AIGS (Robert L. Parker)
(D) O Harry H. Hess (Correct Alternative)

@Y1 9. 624 (Harry H. Hess) (Correct Alternative)
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Question No. 13 1.00

Bookmark
Who among the following has the authority to make laws to restrict the fundamental rights of the
members of police forces in India?

LIACED E_S?]Iﬁl‘il 6erld 922 (members of police forces) & 6£1R% RIFIG NA QG IR ARG AR
Aol din FImGS FRIQ &9 2N giY 26T ?
(A) O Parliament of India Only (Correct Alternative)
6ReM WAL 4°d< (Parliament of India Only) (Correct Alternative)
(B) O State Legislature Only
69N QUQY QULITSI (State Legislature Only)
(C) O Governor
Qgydie
(D) O Both Parliament and State Legislature (Choosen Option)
QR 9°9Q 6 QURY QULLITRI (Both Parliament and State Legislature) (Choosen Option)

Question No. 14 1.00
Bookmark
How many delegates attended the first session of the Indian National Congress in 1885?
1885 (192169 QIRGT1Y RIG1L §°6919 (Indian National Congress) @ 92I¢] ZRJ6SFR6S 6066 K8 2AGel
(delegate) 645! 6L@em?
(A) O 72 (Correct Alternative)
72 (Correct Alternative)
(B)O 65
65
(C)O 85
85
(D)O 75
75

Question No. 15 1.00
Bookmark
In 1913, where was the Ghadar Movement started?
1913 182169 6R2Q016% 90! 2ELIRE (Ghadar Movement) 2I9E 6LIme)mI?
(A) O New York
gy o
(B) © SanFrancisco (Correct Alternative)
Qi eIe86Sl (Correct Alternative)
(C) © Durban
@qlg
(D) O Berlin
NG

Question No. 16 1.00
Bookmark
Which of the following Articles of the Indian Constitution deals with "Financial Emergency"?
QUAGIA ARIFR FIMGS 699 IR, "2 @R 9GS (Financial Emergency) 986 @66 21657
(A) O Article 352
29l 352
(B) O Article 275
]l 275
(C) O Article 320
2] 320
(D) O Article 360 (Correct Alternative) (Choosen Option)
dlIol 360 (Correct Alternative) (Choosen Option)

Question No. 17 1.00
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Bookmark
When was the first Five Year Plan started in India?
LINEER 696 FILIER gaIf 9 QI8 6RR (first Five Year Plan) 29} @QUclm|?
(A) O 1948
1948
(B) O 1951 (Correct Alternative) (Choosen Option)
1951 (Correct Alternative) (Choosen Option)
(C) O 1949
1949
(D) O 1950
1950
Question No. 18 1.00
Bookmark
Where is the headquarters of Life Insurance Corporation located?
@198 9161l @6l (Life Insurance Corporation) Q gloMIm e 6QR0I6R ASLG?
(A) O New Delhi (Choosen Option)
Qe GR1 (Choosen Option)
(B © Lucknow
el
(C) O Mumbai (Correct Alternative)
£)flR (Correct Alternative)
(D) O Chennai
623D
Question No. 19 1.00
Bookmark

When was the National Company Law Tribunal constituted by the government of India?
QIRE Ao FI0I 6969 FUIIRIR a¢IST @ TFURIM (National Company Law Tribunal) 5108 @QUSIRI?
(A) O 2014
2014
(B) O 2016 (Correct Alternative)
2016 (Correct Alternative)
(C)O 1992
1992
(D) O 2005
2005

Question No. 20 1.00
Bookmark
Which of the following layers of the Earth has the highest Density?
YA FINYC RYLR FRIQ FITIR AGG! (Density) AR 2667
(A) O Crust
@% (Crust)
(B © Mantle
flulglm (Mantle)
(C) O Asthenosphere
2I686K1Z2A (Asthenosphere)
(D) O Core (Correct Alternative)
6@I% (Core) (Correct Alternative)

Question No. 21 1.00

Bookmark
Kaiga Nuclear Power Plant is located in which among the following states?

QIMYS 699 AURYER ARG AR 99 6R9 (Kaiga Nuclear Power Plant) 29867
(A) O Andhra Pradesh
dIgdeq sl
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(B) O Karnataka (Correct Alternative)
@4¢19'Q (Correct Alternative)

(C) © Tamil Nadu
QARG

(D) O Maharashtra
geiue

Question No. 22 1.00

Bookmark
The Ninth Schedule was added to the Indian Constitution through which among the following
Constitutional Amendment Acts?

CINGC 699 ARG °6HIRIS 2RITAE FIRIFIER QRGN IRICER FR¢1 2g49% (Ninth Schedule) §
4IPS mI?
(A) O 1st Constitutional Amendment Act, 1951 (Correct Alternative)
161 QARG A°6HlIRAG 21T AE, 1951 (Correct Alternative)
(B) O 44th Constitutional Amendment Act, 1978
4465 AFRIIR d°6EIRIe 2RFAS, 1978
(C) O 24th Constitutional Amendment Act, 1971
2497 IS A°68lIRIG 2RITAL, 1971
(D) O 42nd Constitutional Amendment Act, 1976
42691 QFRIQ Q°6HIRIS 2REAL, 1976

Question No. 23 1.00
Bookmark
When the rivers originate from a hill and flow in all directions, the drainage pattern is known as:
65166696R 691G ﬂ@@@ F19LR0 QL6 99 99° 699ER 99 GO6R 9IEG G2T, 6I6C6TER BR (el
68@1 (drainage pattern) @ QLI |
(A) O Rectangular drainage Pattern
2IGIRIS 8F Fea8 68R1 (Rectangular drainage Pattern)
(B) O Trellis drainage Pattern
69md &R folee 68m1 (Trellis drainage Pattern)
(C) O Radial drainage Pattern (Correct Alternative)
RGN GR Foife 6811 (Radial drainage Pattern) (Correct Alternative)
(D) O Dendritic drainage Pattern (Choosen Option)
IRIQE 918949 (Dendritic drainage Pattern) (Choosen Option)

Question No. 24 1.00

Bookmark
Who among the following was the Chief Minister of Orissa from 1946 to 19507

1946 Q 1950 F1AQ| ALy T4 GEAIR UG 26M?

(A) O Pandit Nilakantha Das
Q8o QIRed QIg

(B) © Krushna Chandra Gajapati (Choosen Option)
Q¥ 08 9199% (Choosen Option)

(C) O Harekrushna Mahatab (Correct Alternative)
26019% F1¥¢CIS (Correct Alternative)

(D) O Biswanath Das

Fgale Qg
Question No. 25 1.00
Bookmark
The Lodi dynasty of the Delhi Sultanate was of origin.
QR INCTLR 6MIQ1 9°4 (Lodi dynasty) A (origin) Q 2SS |

(A) O Afghan (Correct Alternative)
2Ierelle (Correct Alternative)

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

(B) O Arab
die

(C) O Tajik
izl

(D) O Turk
oa

Question No. 26 1.00

Bookmark
Who among the following was the Viceroy of India when Swadeshi Movement started?

6941 2I6LIRG (Swadeshi Movement) 2197 6291 AAAER &I QUL QURIAL (Viceroy) 2J6m?
(A) O Lord Curzon (Correct Alternative)
NG K6 (Lord Curzon) (Correct Alternative)
(B) O Lord Willingdon
MG GRsPee (Lord Willingdon)
(C) O Lord Irwin
A% R9ER (Lord Irwin)
(D) O Lord Lansdowne
M NKSIA6S (Lord Lansdowne)

Question No. 27 1.00

Bookmark
Sulfurous smog is also known as

Ameroude €91 (Sulfurous smog) G ¢l gLlIdhg |
(A) O London Smog (Correct Alternative)
mee €6l (London Smog) (Correct Alternative)
(B) O Tokyo Smog
6g6@Yl €15l (Tokyo Smog)
(C) O Delhi Smog
QR 99! (Delhi Smog)
(D) O Los Angeles Smog
md 2w g%l (Los Angeles Smog)

Question No. 28 1.00
Bookmark
When did the Second Battle of Panipat take place?
669 F192166 §012 AIFae & (Second Battle of Panipat) 6€I&mI?
(A) O 1556 (Correct Alternative) (Choosen Option)
1556 (Correct Alternative) (Choosen Option)
(By O 1586
1586
(C)O 1546
1546
(D) O 1526
1526

Question No. 29 1.00

Bookmark

When was the historic 'Lucknow Pact' signed between Indian National Congress and All India Muslim
League?
699 F132169 ANASIY FIS1EL 2°68d (Indian National Congress) 98° 2YR QUG JIRE 6l (All India
Muslim League) £11169 G218 'R68 ©@ (Lucknow Pact)' I8 62I1R2IMI?
(A) O 1919

1919
(B) O 1916 (Correct Alternative)

1916 (Correct Alternative)

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Join Us-

(C)O 1914
1914
(D) O 1923
1923

Question No. 30 1.00
Bookmark
The National Anti-Profiteering Authority is related to which among the following taxes?
QUL ANESN F6U YIIFNE (National Anti-Profiteering Authority) FEIRES 689 99! (tax) IS AHGE
26%'?
(A) O Wealth Tax
8@ @ (Wealth Tax)
(B) © Income Tax
2lgl @9 (Income Tax)
(C) O Corporate Tax
6@16dlI6Q6 @R (Corporate Tax)
(D) © Goods and Service Tax (Correct Alternative)
difigh @ 649l @R (Goods and Service Tax) (Correct Alternative)

2) Arithmetic

Question No. 1 1.00
Bookmark
If 76% of a number is added to 384, then the result is the number itself. Find the number.
<G 384 65 69115% C°HYIR 76% 65115 FRUN 696% 6KIBITR 69T d°sI e | oHYIT ?‘@E}l @ol |
(A)y O 1500
1500
(B) O 1800
1800
(C) O 1600 (Correct Alternative) (Choosen Option)
1600 (Correct Alternative) (Choosen Option)
(D) O 1700
1700

Question No. 2 1.00
Bookmark
Ratio between two numbers is 32:33 and their sum is 2925, then find the smaller number.
@Gﬁ@" 4°6IUl ¢ledest 2gdle 32:33 99° 64T Dl Q618 2925 2l6g | 9 oSG F4laL @9l |
(A) O 1640
1640
(B) © 1440 (Correct Alternative) (Choosen Option)
1440 (Correct Alternative) (Choosen Option)
(C) O 1540
1540
(D) O 1340
1340

Question No. 3 1.00
Bookmark

Andy can do a piece of work in 205 days and Boston can do the same work in 410 days. With the help of
Cruz, they finished the work in 82 days. Working alone, Cruz can do the same work in how many days?
218 69159 RUFIG 205 TFER IR° 6QUERIF AFIF FIAG 410 TF6R A°Y4l FRAN6R | §RF A ALIA 66
64ell6R QIFITG 82 Q60 A°gd a6 | AR QIFg 9@ Y95 6866 YR6R 2°Y4 FRUIRG?
(A)O 215

215
(B) O 235

235
(C)O 225

225
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(D) O 205 (Correct Alternative) (Choosen Option)
205 (Correct Alternative) (Choosen Option)

Question No. 4 1.00
Bookmark
Find the area of a trapezium, given that the sum of parallel sides is 86cm and distance between them is
43cm. (In cm?)
69115 QIT@A A A8 LILFLAR AFR 86cm YQ° 6LAIRE FER QAR 43cm 26T | ILIQ 6IRPR
7o aa | (cm? 69)
(A) O 1849 (Correct Alternative) (Choosen Option)
1849 (Correct Alternative) (Choosen Option)
(B) O 1949
1949
(C)O 1749
1749
(D) O 1649
1649

Question No. 5 1.00

Bookmark

Average of 11 consecutive numbers is 514. If the average of the 1515 numbers is 511 and the average of
the last 5 numbers is 517, find the middle number.
11 @ @89 2GR LIULIR 514 268 | AT oIl A6HIT L°HYl Q LIULIR 511 IK° 6618 AEHIT LGl Q
LINULIR 517 g9, 6669 7T L°HNIT aela aa |
(A) O 516

516
(B) O 510

510
(C) O 514 (Correct Alternative) (Choosen Option)

514 (Correct Alternative) (Choosen Option)
(D) O 512

512

Question No. 6 1.00
Bookmark
A car travels from a place X to Y in 16 hours. It covers half the distance at 35 kmph and the remaining
distance at 45 kmph, what is the total distance between X and Y? (In km)
691G QIR DT X Q Y § 16 Q4R AIGI K69 | 64 2l 9ASIG 35 kmph 691 ¥G° QI& 2RIl 9QGIG 45 kmph
69! AGHE KEQ, X B Y F1IERA 671IF GG 69687 (km 69)
(A) O 620
620
(B) O 640
640
(C) O 610
610
(D) O 630 (Correct Alternative)
630 (Correct Alternative)

Question No. 7 1.00

Bookmark
Find the curved surface area of the hemisphere, given that the radius is 6 cm and w = 3.14. (In cm"-)
6915 2FEINSR 9F JEONA /TR 240 99 QLR YIS 6 cm 2165 99° T = 3.14 Feg | (r:rn2 69)
(A) O 236.08
236.08
(B) O 256.08
256.08

(C) O 246.08
246.08
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(D) O 226.08 (Correct Alternative)
226.08 (Correct Alternative)

Question No. 8 1.00
Bookmark
On dividing a number by 76, we get 279 as quotient and 0 as remainder. WWhen the same number is
divided by 75, what will be the remainder?
65115\ °3Ul § 76 IR @ISl K6 26T QUGITPR 279 I9° QUGIEEIS 0 ARG | 9T 69T 9°6iul § 75 GIal QUG
QUM 6569 WIGIESIH 6Q66 6297
(A) O 54 (Correct Alternative)
54 (Correct Alternative)
(B) O 58
58
(C) O 52
52

(D) O 56
56

Question No. 9 1.00
Bookmark
What will be the HCF of 304, 1264 and 475, 1975 respectively?
L2llg6sl 304, 1264 99° 475, 1975 @l ©1.4l.9] 6@6% 6297
(A) O 18,21
18, 21
(B) O 186, 25 (Correct Alternative) (Choosen Option)
16, 25 (Correct Alternative) (Choosen Option)
(C) O 20,23
20.:23
(D)O 21,25
21,25

Question No. 10 1.00

Bookmark

By selling a table for ¥ 5762, a shopkeeper loses 14%. At what price, should he sell it to gain 14%7? (In )
69159 699MQG T 5762 601 &7 @51 @64 6QIRIAT 14% [G AX6M | 14% RIQ AR din 64 J91q 6@6%
FRI65 8F QAR 2SR (2 69)
(A) O 7838

7838
(B) O 7738

7738
(C)O 7538

7538

(D) O 7638 (Correct Alternative) (Choosen Option)
7638 (Correct Alternative) (Choosen Option)

Question No. 11 1.00
Bookmark
The average of five consecutive odd numbers is 121. Find the highest of these numbers.
dI68IS gE1S 2 2GR LAAULIR 121 26T | 9T L HUIPLR FIQ QLR L°GIUIT fda e |
(A)O 129
129
(B) O 127 (Choosen Option)
127 (Choosen Option)
(C) © 125 (Correct Alternative)
125 (Correct Alternative)
(D) 123
123

Question No. 12 1.00
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The sum of two numbers is 269. If one-fifth of the one exceeds one-seventh of the other by 13, find the
smaller number.
‘Q‘&h"g‘ a°%yl @ 6RIGIPR 269 26T | IS 65T °%1Yl @ 9] AFAICE, 2ARY 2°6Yl @ 99 a9g°E OIR 13 2i&
g, 666R JY d°al g ‘?‘619; oo |
(A) O 149

149
(B) © 119 (Correct Alternative)

119 (Correct Alternative)
(C)O 129

129
(D) 139

139

Question No. 13 1.00

Bookmark

Speed of a train is 342 kmph. It can cross a pole in 22 seconds. What is the length of the train? (In
meters)
69115\ 686 Q 696! 342 kmph 26T | LI 6915 §4G 22 696R€6R ATTE FAUIER | 6TAR 65y 69697
(F15969)
(A) O 1990

1990
(B) O 2290

2290
(C) O 2090 (Correct Alternative) (Choosen Option)

2090 (Correct Alternative) (Choosen Option)
(D) O 2190

2190

Question No. 14 1.00

Bookmark
¥ 1248 is divided among 2X, 6Y and 8Z so that the share of X, Y and Z are in the ratio 3:2:1. Then, how
much does X get? (In )
¥ 1248 q 2X, BY \¥Q° 8Z £1:I6Q YUQ QEULIRS 699 X, Y 99° Z QL QIFQ QIS 3:2:1 26T | 6868 X
6066 dIng? (Z 69Y)

(A) O 144 (Correct Alternative)
144 (Correct Alternative)
(B) O 142
142
(C) O 148
148
(D) O 146
146

Question No. 15 1.00
Bookmark
The LCM of two numbers is 252 and their H.C.F is 6, find the product of two numbers.
9RT 2614 QL M.411.g 252 9K° 61.41.9 6 6T, YT 9RT A6l @ eI fda /9l |
(A O 1412
1412
(B) O 1312
1312
(C)O 1612
1612

(D) © 1512 (Correct Alternative) (Choosen Option)
1512 (Correct Alternative) (Choosen Option)

Question No. 16 1.00
Bookmark

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Xaveer can do a piece of work in 124 days. He worked at it for 31 days and then Yasin finished it in 93
days. In how many days, can Xaveer and Yasin together finish the work?
QIEQ 61T QNG 124 QR6Q FAUIGR | 62 YT QIF1 31 TQ Ml I9° CI'U6R AR IEIQ 93 TREQ ‘Z!"‘Elﬁi
anl | FIOTg KO B AR Y9G 6968 TR Q"Q]ﬁi AER?
(A) O 60
60
(B) O 62 (Correct Alternative)
62 (Correct Alternative)
(C) O 64
64
(D) O 58
58

Question No. 17 1.00
Bookmark
Abdull bought a table for ¥ 1624 and sold at ¥ 1218. Find the loss percentage.
ARG 695 699 G Z 1624 6 @8 Z 1218 601 @G aml | €8RE! 84S ada ea |
(A)O 10
10
(B)O 20
20

(€O 15
15

(D) © 25 (Correct Alternative) (Choosen Option)
25 (Correct Alternative) (Choosen Option)

Question No. 18 1.00

Bookmark

What value should come in the place of question mark (?) in the following question?
14x0.75 + 12x0.125 - 14x0.25 = 7 - 12x0.5
Famsic 9962 94 5% (?) A< YD MY '8l 629 2ISE4R?
14x0.75 + 12x0.125 - 14x0.25 = 7 - 12x0.5
(A) O 135

13.5
(B) O 14.5 (Correct Alternative)

14.5 (Correct Alternative)
o 15

11.5
(DY 125

12.5

Question No. 19 1.00

Bookmark
What value should come in the place of question mark (?) in the following question?
(1/21)x8505+1/28(2324) = ? x 244

FINGS 969 U4 5F (?) 29I LA FRY 4 629 ASAR?
(1/21)x8505+1/28(2324) = ? x 244

(A) O 2 (Correct Alternative)
2 (Correct Alternative)

(D) O

N N

Question No. 20 1.00

Bookmark
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If A got 488 marks and B got 366 marks, then what percent of A's mark is B's mark?
A9 A 9IRS ¢l 488 99° B IRl IS 366 269, 6665 B dIR2e| as, A adl@elQl FIFR 6766 SBRGI
65?7
(A) O 65
65
B O 70
70
(C) O 75 (Correct Alternative)
75 (Correct Alternative)
(D) O 80
80

3) Analytical Reasoning and Mental Ability

Question No. 1 1.00

Bookmark
If every alternate letter starting from the left end of the word INTIMIDATING is written in small letters, rest
all are written in capital letters, the new word thus formed is arranged in reverse order, which letter will be
fifth to the left of the letter sixth from the right?
€19 INTIMIDATING Q Qi1 @89 2I9g a8 J& g6eia a7 (69165 KI¢ 69I65) ARG 6RIT A/ (small
letters) 69 6MGILN I9° @RG AJRG ¢ YD (capital letters) 6 6MSILIN IK° Q8 62Q2RI gal §ag
BRE 9¢1 (reverse order) 60 6NN, 66568 609 299, FILIE Qe A IFea 29 2AVAG QIE KL A&
SIREA QEI?

(A)O:
BOm

m
(C) O n (Correct Alternative) (Choosen Option)
n (Correct Alternative) (Choosen Option)

D)O A
A

Question No. 2 1.00

Bookmark
Four of the following five are alike in a certain way and so form a group. Which is the one that does not
belong to that group?
PM, GD, EA, FC, UR .
FUANES QICHT FIQ EIGQI@ 4Q 569 QUIBER IRIRR ST 98° 69115 aae 90 |98 | 60R0 698
AFRER AFM 629 QIE?
PM, GD, EA, FC, UR
(A) O UR
UR
(B)O FC
FC
(C) O EA (Correct Alternative) (Choosen Option)
EA (Correct Alternative) (Choosen Option)
(D)O PM
PM

Question No. 3 1.00

Bookmark

A woman walked 7km towards East, took a right turn and walked 6km, took another right turn and walked
4km. She then walked 10km towards North and turned right and walked 10km. She then finally took a
right turn and walked 4km. How far is she from the starting point?
@66 AZRI Q‘Gf QOEQ 7km SIRER, FIRIE 6518 626M 9S° 6km SIMER, 2IGY IR GILIE 6212 65@ 4km
SIMEM | GI'I65 69 QAR TEIER 10km FIEM I9° GITIEG §M 2R 10km FER | SI'U6R 69 651FER 66115
QIg18 6911% 69 4km SIMEM | AN TER 69 696G 96 AVT?
(A) O 20km (Choosen Option)

20km (Choosen Option)
(B) O 18km

18km
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(C) © 13km (Correct Alternative)
13km (Correct Alternative)
(D) © 16km
16km

Question No. 4 1.00

Bookmark
Find the next number in the series.
35; 125,.225: 335.7
gea 99169 J9Sa S°HYIE fda a9l |
35, 125, 225, 335, ?
(A) O 455 (Correct Alternative) (Choosen Option)
455 (Correct Alternative) (Choosen Option)
(B) O 440
440
(C)O 425
425
(D) O 450
450

Question No. 5 (Case Study From Q.No 6 To 10) 5.00

Bookmark
Directions: Read the given information carefully and answer the questions that follow.
Eight players A, B, C, D, E, F, G and H are seated in a square table - two on each side. All the players are
facing the centre.
a) A sits third to the left of E, who sits fourth to the left of H.
b) There are exactly four people between G and F.
c) B and F sit in the same side of the table but A and H don't.
d) C sits third to the left of B.
feasIem: Q‘?JIEJIGIQQI gealg A969R deg 99° d99eaa e &g |
20 [l 6951RIT A, B, C, D,E,F'G 3 H 651N QelRla 699M SIRU6T YLIR YRR QIF6R 90 0dl QTRT |
a9 66IRIR 6ag A9 ?J_‘Qu 088 |
a) H @l |I¢ 9% 6‘@82] 2969 @Q2RI E Q QI 92 GO 2IF6R A QLS |
b) G B F ¢186% 0% G5 Kél 6nI% QIRE |
c) B @ F 689G 4eliQ EIIG]GQ G‘QIEJQI 696m AGH 99 GIQ]GQ o4 QI8 |
d) B Q QIf1 8¢ g&1% 21969 C 948 |

Bookmark
Who sits third to the left of F?

F QL QIF 6@ QU1K AI96Q &9 9a&?

(A) O G (Correct Alternative)
G (Correct Alternative)

D)O

OO 00O ITT

Bookmark
Which of the following is the odd man out, with respect to the arrangement?

YSZ 26 FYRYS IR 6966 ALGPS (odd man out) 2657

(A) O CH
CH

(B) O AG (Correct Alternative)
AG (Correct Alternative)
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(C)O AB
AB
(D) O DE
DE

Bookmark
Who sits third to the right of the one who sits second to the left of H?
H Q QIfl 8¢ §019 2196 @R 681RIR @ G121 /¢ $o18 L6 &9 TR?
(A) O
(B) O

€O

mm @G W

(D) O A (Correct Alternative)
A (Correct Alternative)

Bookmark
Who sits exactly between C and F?

C BF 0% 1869 &9 @982

(A) O E (Correct Alternative)
E (Correct Alternative)

(B)O
© O
(D) O

IT>»> 00

Bookmark
Who sits exactly opposite to D?

D o 0% Sd966q @9 998?
(AO F
F
B)O B
B
(C) O E (Correct Alternative)
E (Correct Alternative)

bYO H
H

Question No. 11 1.00

Bookmark

Four of the following five are alike in a certain way and so form a group. Which is the one that does not

belong to that group?

Enough, Sufficient, Blame, Adequa.t‘e, Plenty .

QIS AICHIT RIQ SI6RIT 9@ FEY QUILER IRIAR 2SS 99° 65115 AFL FI0F K9G | 664T 698

AQE6R AIfim 629 Q1E?

Enough, Sufficient, Blame, Adequate, Plenty
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(A) O Plenty
Plenty
(B) O Adequate
Adequate
(C) © Blame (Correct Alternative) (Choosen Option)
Blame (Correct Alternative) (Choosen Option)
(D) © Enough
Enough

Question No. 12 1.00

Bookmark
Find the missing term in the series.
720,120, 24,7, 2, 1
JOR GE16Q LRAINAYR! L°GUIT Fdal A |
720,120, 24,7, 2, 1

A O 4
4

(B) O 12
12

(€O 8
8

(D) O 6 (Correct Alternative) (Choosen Option)
6 (Correct Alternative) (Choosen Option)

Question No. 13 1.00

Bookmark
Which of the following symbols should replace the questions mark (?) in the given expression in order to
make the expression ‘M < Y’ definitely true?

M<O=sN?D<A<Y

AAGRIE ‘M < Y’ ¢ 28 Q69 984 K% QIR 996 IRGRIFER 2! 9F 5 (?) VRER NS 699 ISR
QL] ALR?

M<OsN?D<A<Y
(A)O s
<

(B) O Either = or = (Correct Alternative) (Choosen Option)
< @€ = (Correct Alternative) (Choosen Option)

@re >
>
OO =
Question No. 14 1.00
Bookmark
Which one of the following images numbered as (1), (2), (3), (4) will be the next image for the given
series?

(1), (2), (3), (4) VER R 6LINYS| FYMGES TRIQ 699 &3, g9a 9719 JAeE! 83 6997
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(A)O 2
2

(B) O 1 (Correct Alternative) (Choosen Option)
1 (Correct Alternative) (Choosen Option)

€O 4
4
Do 3
3

Question No. 15 (Case Study From Q.No 16 To 18) 3.00

Bookmark
Directions:
In a certain code language:
'super yummy cream soup' is written as ‘run fun sun dun’,
‘crunchy fresh cream soup' is written as 'sun bun gun fun’,
‘yummy crunchy mushroom soup' is written as 'dun nun fun bun’,
'super crunchy cream mushroom' is written as 'bun run nun sun'
FeT ISR
9Q GEY 6919 QUTIER :
'super yummy cream soup' g 'run fun sun dun' GI6S 6Msl LIRS,
'crunchy fresh cream soup' § 'sun bun gun fun' SI6S RS AR,
'yummy crunchy mushroom soup' q 'dun nun fun bun' 16 6msl LIRS,
'super crunchy cream mushroom' g 'bun run nun sun' QI6< 6MSl AR,

Bookmark
What does the code 'dun’ stand for?

6713 'dun’ RITI AN AEY?
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(A) O super
super
(B) © yummy (Correct Alternative) (Choosen Option)
yummy (Correct Alternative) (Choosen Option)
(C) O soup
soup
(D) © cream
cream

Bookmark
What is the code for 'soup' in the given code language?

d96 691% QUFI6R 'soup’ O 671% Q'8 6LR7?

(A) O sun
sun
(B) O fun (Correct Alternative) (Choosen Option)
fun (Correct Alternative) (Choosen Option)
(C) O dun
dun

(D) O bun

bun

Bookmark
What does the code 'bun nun' stands for?

691 'bun nun' FIEI AR AEY?

(A) O crunchy mushroom (Correct Alternative) (Choosen Option)
crunchy mushroom (Correct Alternative) (Choosen Option)
(B) O crunchy soup
crunchy soup
(C) O cream soup
cream soup

(D) © mushroom soup
mushroom soup

Question No. 19 1.00

Bookmark
D is in the East of B and South of C. B sits to the North of A. Which direction of C, is A?

B ‘61‘63_@6‘61 42° C R QT8 68D 28 | AQ QR96R B 2R | C 9 669 T9I69 A 2R?
(A) O North-East
A09-9<
(B) © South-East
QRe-ge
(C) O South-West (Correct Alternative) (Choosen Option)
¢ &&1-98l€1 (Correct Alternative) (Choosen Option)
(D) © North-West
LER-ALE

Question No. 20 1.00

Bookmark
If, in the number sequence 458796 324 56 9, all the odd numbers are decreased by two and all the
even numbers are decreased by two, then the new number sequence is arranged in descending order,
which will be the seventh digit from the right?

Q8 Q°0H 145879632456 96929909 2YF 2°HIER IR €19 @QUAIN 99° AA1E g A°GIHI6R
9@ 219 QAN 6869 Q2 GG BQ AIF KR AR F6M SILIE FLQ AIF ART 6966 6987
(A O g

B O 3
5
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€0 2
2

(D) O 4 (Correct Alternative) (Choosen Option)
4 (Correct Alternative) (Choosen Option)

Question No. 21 1.00

Bookmark
In this question, relationship between different elements is shown in the statement. This
statement is followed by two conclusions:
Statements: E<L;A>V. W<T V=L E>W
Conclusion:
hW<L
iyT=V

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

I g6 S61g QILIL A6R 2SI 'El"‘c'lﬁfﬁj SRYY6R 4L FAULIRE | 98 9DQY J6Q T aad
QUIARE:

Qe E<L,A>V,W<T, V=L E>W

Fad:

)W=<L

inT=>V

PINYE 07PN AR QUYS F9F 098 998

(A) 6297 Gad | AGIAE 969

6267 A4 i AR F6R

qud i Qe i 29998 @6

fad i @9 i 29048 K6 FIE

Qea 5ad i 6 i 29998 @6 |

(A)O B
B

(B) O A (Correct Alternative) (Choosen Option)
A (Correct Alternative) (Choosen Option)

(©)O D
D

(Byo ¢
Cc

(B)
(©)
(D)
(E)

Question No. 22 1.00

Bookmark
Which one of the following images numbered as (1), (2), (3), (4) closely resembles the mirror image of the
given figure?

(1), (2), (3), (4) QULER AFIA 6TIR2S FIREE FRIQ 69 8T, goa 5ea add gedan Faeed Agada 629
2

(©) O

BB 2w pon

(D) O 3 (Correct Alternative) (Choosen Option)
3 (Correct Alternative) (Choosen Option)

4) Computer and Internet Awareness

Question No. 1 1.00
Bookmark
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What is the full form of DSL?
DSL @ 94 9@ @'&1?
(A) O Digital Sub connector Line
@OYIM 99 F6ER MRS (Digital Sub connector Line)
(B) O Digital Subscriber Line (Correct Alternative) (Choosen Option)
ehgIm 499090 miNG (Digital Subscriber Line) (Correct Alternative) (Choosen Option)
(C) O Digital Sub Line
240l 99 MIRE (Digital Sub Line)
(D) O Digital Superior Line
CR%IN U2 MRS (Digital Superior Line)

Question No. 2 1.00

Bookmark
is a specific class of computer software that provides the low-level control for a device's
specific hardware.

_ 6208 QHUSA ALEEAR (computer software) Q IR fae 684N Q1T 98 QUG FaR

21E64Q IR 8¢ 9 FAS4 (low-level control) IFIG KGRI |
(A) © CoreMemory

6RIQELIEENRN (CoreMemory)
(B) O Controller

@edlim (Controller)
(C) © Uniqueware

25R6E (Uniqueware)
(D) O Firmware (Correct Alternative)

IEI63R (Firmware) (Correct Alternative)

Question No. 3 1.00

Bookmark
To prevent Excel from changing the cell references in a formula, you need to place sign
before and after the column letter. !
e E]’?iﬁ;lIG‘a 64m 6QUFER (cell references) FLRIRS i J6gM (Excel) § 6URSI D168, 2gdg ane
ZFA (column letter) JEQ 4&° 6 5 (sign) QG191 LGS |

(A O +
+

B)O &
&

©OQ *

(D) O $ (Correct Alternative)
$ (Correct Alternative)

Question No. 4 1.00
Bookmark
in Microsoft PowerPoint allows the user to see all the slides in the presentation in a single view.
FIRERIAE A€ D& (Microsoft PowerPoint) 6 , 2O9F 6915\ QUER 691 6T6REAAFR Y

QRS (slides in the presentation ) 6Q4<I IR AGFT &9 |
(A) O Slide sorter view (Correct Alternative) (Choosen Option)
IRG A9 WY (Slide sorter view) (Correct Alternative) (Choosen Option)
(B) O Image view
@ELE @4 (Image view)
(C) O Notes page view
6919'e 69 @Y (Notes page view)
(D) © Normal view
aflim @ (Normal view)

Question No. 5 1.00
Bookmark
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What is the shortcut key to insert a new slide in MS PowerPoint?
MS dIgIo 994 (MS PowerPoint) 691 4@ 6@ RS 6aIG9l i Q]S‘%“c}‘ @1 (shortcut key) @'€1?
(A)O Ctrl+K
Ctrl + K
(B) O Ctrl+ N (Choosen Option)
Ctrl + N (Choosen Option)
(C)O Ctrl+L
Ctrl + L

(D) O Ctrl + M (Correct Alternative)
Ctrl + M (Correct Alternative)

Question No. 6 1.00

Bookmark
Special memory units, which are part of the CPU (not main memory) that hold information temporarily
are

90a 65165191 Y& (Special memory units), KLl CPU (¢S4 6716¢1151 ‘@6?5) Q 691IS 2°¢l 216F, SIL!
265 9Q° QI Q6T ORI 2R Q§l2IN (hold information temporarily) |
(A) O Control Unit
QI Y& (Control Unit)
(B} O Registers (Correct Alternative)
69@ER (Registers) (Correct Alternative)
(C) © Bus (Choosen Option)
Q4 (Bus) (Choosen Option)

(D) O ALU
ALU

Question No. 7 1.00
Bookmark
Which among the following is a valid internet website URL?
FIRGS FRIQ 6395 I7 6T RYRERT 64IIRG (valid internet website) & URL 21652
(A) O mycomputer@gmail
mycomputer@gmail
(B) O c:\gmail
c:\gmail
(C) O www.gmail.com (Correct Alternative) (Choosen Option)
www.gmail.com (Correct Alternative) (Choosen Option)
(D) O www.gmail
www.gmail

Question No. 8 1.00

Bookmark
Which of the following functions of Operating System includes a program known as |/O controller?

2625 A}E (Operating System) Q FIRYS FITIGER FRIQ 68RF, I/0 FEQIRR (1/O controller) AUIFER
J95e 9% 6dIgicg EIE‘.@E»} @6eQ?
(A) O Device Management (Correct Alternative)
RIng AYIERE6F14 (Device Management) (Correct Alternative)
(B) O File Management
Flom F46awes1e (File Management)
(C) © Memory Management
651641191 FHI6R w618 (Memory Management)
(D) O Processor Management
641644 SYI6a @618l (Processor Management)

Question No. 9 1.00

Bookmark
What does a diamond flowchart shape indicate?

@INEIE 6QISIS (diamond flowchart) @ 2IRIG §'€l Y56 F6Q7?
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(A) O Decision (Correct Alternative)
€999 (Decision) (Correct Alternative)
(B) © Terminator
6969 (Terminator)
(C) O Process
6416494 (Process)
(D) O Input/ Output
Rads / aAl'de (Input / Output)

Question No. 10 1.00
Bookmark
The device that connects the computer to internet using wired phone connection is
QIO 62rIQ 9°64IGl (wired phone connection) RUFEIR 83 AHISAT DQYAEET IEE I°6S! G‘@E’JG‘I
QIR 6T |
(A) © Modem (Correct Alternative)
6€116E'¢1 (Modem) (Correct Alternative)
(B) © WIi-Fi (Choosen Option)
G-I (Wi-Fi) (Choosen Option)
(C) © Multiplexer
FIRTEYmIR (Multiplexer)
(D) © Hub
@9 (Hub)

Question No. 11 1.00

Bookmark
What does .gov refer to with respect to website?

68RING ALEER .gov @8 §EIN?
(A) O grocery
6919% (grocery)
(B) O general
6W6aQUM (general)
(C) O government (Correct Alternative) (Choosen Option)
51@9‘6?1@ (government) (Correct Alternative) (Choosen Option)
(D) O geographical
@BYITRAR (geographical)

Question No. 12 1.00
Bookmark
What is the shortcut to justify a paragraph in Word?
@l (Word) 62 ¥ QIQUElIcrg @REPI (justify) 9091 IR 99R% (shortcut) K'61?
(A) O Ctrl + L
Ctrl+ L
(B)O Ctrl+E
Ctrl+ E
C©)O Ctrl+R
Ctrl+ R

(D) O Ctrl +J (Correct Alternative) (Choosen Option)
Ctrl + J (Correct Alternative) (Choosen Option)

Question No. 13 1.00

Bookmark
device can scan items and retrieve instant information as the customers shop for faster
checkout.

JILRAIGFR FEIRE 2529 BRI §1g 66R2UAE AR FRI0d g98 AREgERa e A9 986
4oal di9 (retrieve) el |
(A) O Retina scanner

69157 HeR (Retina scanner)
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(B) O Photo scanner

6FI6T /e (Photo scanner)
(C) O Barcode scanner (Correct Alternative) (Choosen Option)

QRNERIE D6 (Barcode scanner) (Correct Alternative) (Choosen Option)
(D) O Biometric scanner

QUELIEFITR LA (Biometric scanner)

Question No. 14 1.00

Bookmark
In MS-Word, the Footnotes group is available under ribbon.

(A) O REFERENCES (Correct Alternative)
6r61qs (REFERENCES) (Correct Alternative)
(B) O PAGELAYOUT
6dREmelYS (PAGELAYOUT)
(C) O DATA
@IS (DATA)
(D) O FORMULAS
PelmIg (FORMULAS)

Question No. 15 1.00

Bookmark
allows the user to create TCP or UDP connections and send lines of text back and forth.
2ug TCP @€l UDP 9°64ll6l (TCP or UDP connections) Eﬁ. SRR IR 9Q° 6596 AIE

(lines of text) Q[@Gi a8q G 2I9g d0IRRIG Ejaﬂf,‘ o9 |l
(A) O route
Q%' (route)
(B) O tshark
a4 (tshark)
(C) O netcat (Correct Alternative)
69'9'@YI9" (netcat) (Correct Alternative)
(D) O netstat
6aSRUT (netstat)

Question No. 16 1.00
Bookmark
You need to perform action to open an office document.
4@ 2re @guesI& (office document) 6$IRRI DR 2IAEIG qldy a9RIg 9% |
(A) O Mouse Scroll
fllud 64 (Mouse Scroll)
(B) O Double click (Correct Alternative)
£em &8 (Double click) (Correct Alternative)
(C) O Single click
gdegm §9 (Single click)
(D) © Mouse Drag
¢lltad LIol (Mouse Drag)

Question No. 17 1.00

Bookmark
Which is also known as the brain of a computer?

6905 QEUSAR F19 (brain) QISER 12l KEIIgEN?

(A) O CPU (Correct Alternative) (Choosen Option)
CPU (Correct Alternative) (Choosen Option)

(B) O Keyboard
@16Q1¢ (Keyboard)
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(C) O Mouse

¢lld (Mouse)
(D) © Monitor

£155' (Monitor)

Question No. 18 1.00
Bookmark
Which of the following printers is categorized as a character printer?
FIARYC TR TR 6966 97 AV JER (character printer) W6 6G61QS 6LIRG?
(A) O Inkjet Printer
Q@6Rs J49 (Inkjet Printer)
(B) O Optical Image Printer
2N K600 &R (Optical Image Printer)
(C) O Laser Printer
A0S JE (Laser Printer)
(D) O Dot Matrix Printer (Correct Alternative)
e¢ 7187 G449 (Dot Matrix Printer) (Correct Alternative)

Question No. 19 1.00
Bookmark
option in Excel allows you to display longer text within a cell without over spilling.
J6gm (Excel) 69 299e, 29dg Ml 6999 (longer text) g QITIG D9IG F6TH 64 (cell)
FRIER QERIER AIFIAY FR2IN |
(A) O Word Art
@S 2I6' (Word Art)
(B) O Watermark
QISR (Watermark)
(C) O Bookmark
@Q?‘Ilﬁi (Bookmark)
(D) O Wrap text (Correct Alternative)
U 69'F% (Wrap text) (Correct Alternative)

Question No. 20 1.00

Bookmark
Who is called the 'Father of Computer'?

QL7 'AFUSTAR WeR (Father of Computer)’ @LIKIN?
(A) O Alexander Graham Bell
2ism@IE QlLlc] 62m (Alexander Graham Bell)
(B) © Charles Babbage (Correct Alternative) (Choosen Option)
SINg 1686 (Charles Babbage) (Correct Alternative) (Choosen Option)
(C) © Thomas Alva Edison
62l 2RI 9GS (Thomas Alva Edison)
(D) O Isaac Newton
2IREIR GRS (Isaac Newton)

5) Current Affairs National and International

Question No. 1 1.00

Bookmark

The Association of Southeast Asian Nations (ASEAN) has agreed in principle to admit which among the
following countries as its 11th member?
QR8 9S 9919 ULYERR 2°9 (Association of Southeast Asian Nations, ASEAN) SIREE 606196 arlQ
69007 YLIR 11661 999 QIFER 1NN K06 IR INISER L6 6LIRR?
(A) O Bangladesh

QaP@IeYsl (Bangladesh)
(B) O East Timor (Correct Alternative)

Q€ G6LlIR (East Timor) (Correct Alternative)
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(C) O SrilLanka
Sim&| (Sri Lanka)

(D) O Nepal
6adim (East Timor)
Question No. 2 1.00
Bookmark
The eight cheetahs brought from Namibia were recently released in which among the following National
Parks?

RING2Q ASNIARAR 20T TG QUG FRFER FYRYS RICA AUIGYFR FRIQ 6[Q0I6Q /S| AIR2ARI?
(A) O Kuno National Park (Correct Alternative)
7661 1914 A<ile (Kuno National Park) (Correct Alternative)
(B) O Iravikulam National Park
AAVRGME KIS QYT (Iravikulam National Park)
(C) O Silent Valley National Park
AIRERE QIR RIF1L AQUIS (Silent Valley National Park)
(D) O Gir National Park
FR QIS1Ek QRYIQ (Gir National Park)

Question No. 3 1.00

Bookmark
Where was Asia’s largest compressed bio gas plant inaugurated in India in October 20227

26D 2022 69 YAINSER TR ‘21‘5@@@ S6etee Q6L 8lYIE (compressed bio gas) ®IQEI! 690168
QRATS 6LIRYMI?
(A) O Himachal Pradesh
TSR g6Qsl
(B) O Punjab (Correct Alternative)
d&le (Correct Alternative)
(C) © Andhra Pradesh
26l
(D) © Maharashtra
12U,

Question No. 4 1.00

Bookmark
Which of the following countries will host the FIFA Women's Football World Cup 20237

FIFA Q&R 9o 8¢ @9 2023 (FIFA Women's Football World Cup 2023) 69Q 6Q6IGR6R 26NRR
6997
(A) © France and Germany
FIR, 6 IR
(B) O India and Bangladesh
QAL B QUPRIELS
(C) O North Korea and South Korea
QAR 6RIA2 B B4 6%
(D) O Australia and New Zealand (Correct Alternative)
e M2l B QUEMIE (Correct Alternative)

Question No. 5 1.00

Bookmark
Where was the 17th G20 Heads of State and Government Summit held?

17 9F1 G20 QUF, €64 99° A9RIR RRG1 (G20 Heads of State and Government Summit) 6R9016Q 298e
6Ll MmI?
(A) O Paris
g
(B) O Riyadh
QS
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(C) O New Delhi
e G

(D) O Bali (Correct Alternative)
SI@ (Correct Alternative)

Question No. 6 1.00
Bookmark
Which among the following Indian Cities has won the 'AIPH World Green City Awards 20227
FIAmES FIQ 69R BINSIY 989, 'AIPH @R gl1q 85 goIa 2022 (AIPH World Green City Awards 2022)'
WoR?
(A) O Hyderabad (Correct Alternative)
LN SIS (Correct Alternative)
(B) O Nainital
6GGGIM (Nainital)
(C) O Shillong
sim°
(D) O Srinagar
SRS

Question No. 7 1.00
Bookmark
Which international organization has recently released the World Social Protection Report 2020-227
689 2ISHIS1R L°H0E FIR FaTeR a9 IFIFT Yol BeTls 2020-22 (World Social Protection Report
2020-22) gQlsl AIR&?
(A) O South Asian Association for Regional Cooperation
A2 9G2IG 26TNNG PR RRBRIM 6RI2TE6QLE (South Asian Association for Regional
Cooperation)
(B) O World Economic Forum
GRS RERNETITR 6FIRE (World Economic Forum)
(C) O International Labour Organization (Correct Alternative)
218H114 6 9°6108 (International Labour Organization) (Correct Alternative)
(D) O World bank
@€ QUI= (World bank)

Question No. 8 1.00

Bookmark
Karikili bird sanctuary, which was recently declared as a Ramsar site, is located in which state?

FRCER QAR FIS (Ramsar site) QIFER 6QITEG 6QRYS| FIRGM AW ARQAIRXENY (Karikili bird sanctuary)
69% QURYER ALES?
(A) O Tamil Nadu (Correct Alternative)
SIAMAIG (Correct Alternative)
(B) O Andhra Pradesh
2IFg6Q sl
(C) O Kerala
6aem
(D) O Telangana
6Cemerie

Question No. 9 1.00
Bookmark
In August 2022, which among the following lakes has been declared a monument of national importance
by the Union Ministry of Culture? !
2GR 2022 69, FYMEIT 2AYER FUQ 6QQ0 689 2°9% Ag8IRe (Union Ministry of Culture) 919 QIG1%
99@gd 91991 (monument of national importance) QIR6R 6QI8C 62IRR?
(A) O Mansar Lake
199 €9 (Mansar Lake)
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(B) © Bhimtal Lake

QEIGIM €9 (Bhimtal Lake)
(C) O Anang Tal Lake (Correct Alternative)

2AasP ¢m €4 (Anang Tal Lake) (Correct Alternative)
(D) O Loktak Lake

EMINGIR €9 (Loktak Lake)

Question No. 10 1.00

Bookmark
Where was the 15th meeting of the Conference of Parties (COP15) to the United Nations Convention on
Biological Diversity (CBD) held in December 20227

@6999 2022 62 649 QGG (Biological Diversity, CBD) QY69 dae KIcd°aa dima AR QEPe AP
QI (Conference of Parties, COP15) @ 15 8¢1 9@ 62Q0I69 62IR2MI?
(A) O Montreal (Correct Alternative)
£1&9M (Montreal) (Correct Alternative)
(B) O Paris
QU (Paris)
(C) O Belgrade
6aMEY% (Belgrade)
(D) © Budapest
9QI6d® (Budapest)
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